EAS .
- "D, (pr) x4 <90°
. " 7
. Win = o = 2,607=43

( D‘.F}BD O'w'»’l\&\ HDQ: .‘93.02, A ,%Q: 1))?- [ 2 § => Ap=\

p:,
_(;’5 ABc os)rM) Pk ﬂ\%?L Ac®s 122+°(2=> e = Ay
Pc-Ac - FcAc =y LGSECAT =D Fe =0,
iy : . ,
e (J\‘(?J}“ -Y\\rﬂ »,';;(_2-: Ap-Oe AD=x /;JOJ Wi
o 62= X6 DC=g-x
{_5 - B 'K":AD'—‘Z{J DC»—-"S"
S DCEAC-AD =B -} O
g J
A be= A peslod. o = e =i~ = )
VO WA pnﬁh‘a elpyl) Ap = /= g (IU\JJ An=Ac
A (7 ks J
BB ~Ap = Ac-AE
BD = I=C
( J\’h) qu‘fj) 2: 2 = »
D B0 BB e T
[=C = £ BL \a (0“_(_3): X (S +x) g

\)-i/
“d

O == mlatlidinc = 2x+0 =5 x - 5—-,\}5_ &k,q

BT RK BN TR L) S B 6 ‘DF‘"D-Ag—@o:%@{’)

L= BD
Be AR <= (00\) DE Il B <= Ap s B
2 B Ac
;Q-l—:::-. e i T
G =~ BE=S

http://heshbonia.com/ % Dy nitorn 92



http://heshbonia.com/



